

$$a_n = \frac{1}{r}, 1, 2, \dots \quad a_n = \frac{1}{r} \times 2^{n-1} = 2^{n-2}$$

$$a_{10} = \frac{1}{r} \times 2^9 = 256$$

(الف)

$$\frac{a_{15}}{a_{12}} = q^3 = 2^3 = 8$$

(ب)

$$a_4 = \frac{1}{r} \times 2^3 = 4$$

$$a_{10} = \frac{1}{r} \times 2^9 = 256$$

(ج)

$$\sqrt{1.25} = 1.118$$

$$128 = \frac{1}{r} \times 2^{n-1} = 2^{n-1} = 256 \Rightarrow n = 9$$

(د)

$$\frac{t_1}{t_0} = q = \frac{9}{12} = \frac{3}{4} \Rightarrow q = \frac{3}{4}$$

$$t_{10} = t_1 \times q^9 = 9 \times \left(\frac{3}{4}\right)^9 = 3.14$$

۲

$$a_2 \times a_3$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 243 \Rightarrow a_3 = 3$$

(الف)

$$a_1 \times a_5 = a_3 \times a_3 = 3 \times 3 = 9$$

(ب)

۳

$$2^a, 4\sqrt{2}, 2^b \Rightarrow (4\sqrt{2})^2 = 2^a \times 2^b \Rightarrow 32 = 2^{a+b} \Rightarrow a+b = 5$$

$$\text{درج اولی: } \frac{a+b}{2} = \frac{5}{2} = 2.5$$

۴

$$a_n = 1 - n \quad a_{11} \times a_n = a_n \times a_n = (1-n)(n+1) = n^2 \Rightarrow 1 - n^2 = n^2$$

$$a_n = n \quad \Rightarrow 1 = 2n^2 \Rightarrow n^2 = \frac{1}{2} \Rightarrow n = \pm \sqrt{\frac{1}{2}}$$

$$a_{11} = n+1$$

۵

$$\cancel{a_1 + a_r + a_r + \dots + a_r = a_1 + a_r} \quad a_1 + a_r = 2 \quad a_r + a_r = 1$$

$$\cancel{a_1 + a_r + a_r + \dots + a_r = 2r} \Rightarrow \cancel{a_r = 2r} \Rightarrow \cancel{a_r = 2r}$$

$$\Rightarrow \frac{a(1+q^r)}{aq(1+q)} = \frac{2r}{1r} = \frac{(1+q)(q^r - q + 1)}{q(1+q)} = \frac{1}{q} \Rightarrow 1q = r q^r - r q + r$$

$$\Rightarrow r q^r - 1 \cdot q + r = 0 \Rightarrow q = \frac{1 \pm \sqrt{1 - 4r}}{2} < \frac{1}{r} \Rightarrow a = 1 - \dots \Rightarrow a_n = 1, r, q, \dots$$

$$a_1 + a_r + a_r = 1r \Rightarrow a_1 + r, a_r = 1r \Rightarrow a_1 + a_r = 1 \Rightarrow a_r q - 1 + a_r q$$

$$a_1 + a_r + a_r = 2r = a_r^r = a_r^r \Rightarrow a_1 + a_r = q = a_r q^{-1} + a_r q$$

$$r q^{-1} + r q = 1 \Rightarrow r + r q^r = 1 \cdot q \Rightarrow r q^r - 1 \cdot q + r = 0 \Rightarrow q = \frac{1 \pm \sqrt{1 - 4r}}{2}$$

$$\text{if } q = r \Rightarrow a_n = 1, r, q$$

$$\text{if } q = \frac{1}{r} \Rightarrow a_n = q, r, 1$$

$$a_n = \underbrace{r, q, h, \dots}_{\times r \times r} \Rightarrow q = r \Rightarrow a_n = r \times r^{n-1} \quad S_n = r \times \left(\frac{r^n - 1}{r - 1} \right) = r^n - 1 = 29.41 \quad (\text{انت})$$

$$P_{1..} = \sqrt{(a_1 + a_r)^{10}} = (a_1 + a_r)^5 = (r + r r^9)^5 = r^{10} r^{81} = r^{91}$$

$$a_n = a, aq, aq^r, aq^r, \dots \xrightarrow{t_n} aq - a, aq^r - aq, aq^r - aq^r, \dots$$

$$\Rightarrow a(q-1), a(q^r - q), a(q^r - q^r), \dots$$

$$a_r^r = a_1 \times a_r = (a(q^r - q))^r = (q(q-1))(a(q^r - q^r))$$

$$\Rightarrow a^r q^r - r a^r q^r + a^r q^r = a^r q^r - r a^r q^r + a^r q^r \quad \checkmark \quad \text{برابر است}$$

$$a_n = a, ar, ar^2, ar^2, \dots, a + (n-1)d \quad (\text{انت})$$

$$S_n = \frac{n}{2} (2a + (n-1)d) \quad S_n = a + a + d + a + r^2 d + a + r^2 d + \dots + a + (n-1)d = na + (d + r^2 d + \dots)$$

$$= na + (1 + r^2 + \dots + (n-1))d = na + \frac{(n-1)(n)}{2} d = na + \frac{n^2 - n}{2} d = \frac{n}{2} (2a + (n-1)d)$$

$$a_n = a, aq, aq^r, \dots, aq^{n-1} \quad S_n = a + aq + aq^r + \dots + aq^{n-1} \times q \Rightarrow S_n \cdot q = aq + aq^r + \dots + aq^n$$

$$\Rightarrow S_n - S_n \cdot q = a - aq^n \Rightarrow S_n(1 - q) = a(1 - q^n) \Rightarrow S_n = \frac{a(1 - q^n)}{1 - q} = \frac{a(q - 1)}{q - 1}$$